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☺☺☺☺☺

1. Jessica Young, 20-yrs-old, considers herself an average cigarette smoker, for she consumes about a carton a week. She wonders how much money she could accumulate by the time she reaches 60 if she quit smoking now and put her cigarette money into a saving account. Assume that cigarettes cost $20 per carton. Jessica expects that a savings account would earn 6% interest, compounded semi-annually. Compute Jessica's future worth at age 60 (i.e. 40 years into the future).
F = 20*26 (F/A, 3%, 80) =  520 * 321.363 =  $167,108.76
2. Calculate the maximum initial cost that alt B can have before it is no longer the preferred alternative for the following problem:




A

B

Initial Cost



6000

4000

Uniform annual benefit


800

900

Assume a 20 year life, 7% MARR, no salvage value. Use NPW as the evaluation criterion.

NPW (A) = 800 (P/A, 7%, 20) – 6000

NPW (B) = 900 (P/A, 7%, 20) – x

We will begin to choose A when NPW (B) is less than NPW (A)

2475.21 <  9534.60 - x

x = $7059.39

The maximum initial cost of B, while it is still the preferred alternative is $7059.39

Continue over if necessary










